Rule 8 / Case 8 Quiz

9 responses
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On the last play of the 4th quarter, A scores a TD, making the score A34-
B35. An offensive player throws the ball into the stands. B declines to
enforce the penalty on the try, and A’s try is successful. The penalty is
enforced on the first play of OT.

9 responses

® True
® False

B12 enters the field to substitute for B15. B15 attempts to leave the field

but hasn’t gotten across his sideline when A starts the play, and the flank
throws a penalty. The play results in a TD for A. After the flank reports the
foul to the referee, the referee immediately signals the penalty is declined
and then signals a TD. Team A should have been given the opportunity to
accept or decline the penalty.

9 responses

@ True
® False

I8 Copy

10 copy



A, 3/10, A-6. An offensive player holds a defender in team A's end zone. If |_|:| Copy
the penalty is accepted, the result is:

9 responses

® = A 3/13,A-3
@ Safety

In the middle of the third quarter, the QB throws a touchdown pass and is |_|:| Copy
roughed.

9 responses

@ The penalty may be enforced
on the try or kickoff

@ Team A must decline the
penalty to keep the touchdown

@ The penalty must be enforced
on the try

As time for the first period expires, an offensive player holds in his end I_D Copy
zone. The defense accepts the penalty and scores a safety. The period is

extended by an untimed down, and the offensive team kicks off from its

20-yard line as part of the first quarter.

9 responses

® True
® False




During a scrimmage kick, a receiver is running toward his own goal and I_D Copy
catches a scrimmage kick over his shoulder at the R-2. He runs into his

end zone, where he fumbles the ball; the ball rolls over the side line out of

the end zone.

9 responses

@ Touchdown for K
@ Safety for K
@ Touchback for R
® R, 1/10,R-2
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